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JE 15z B E4 Bl OUT | IN |GROSS| HDCP | NET
B BILUx T— 42 42] 84 15.8] 68.2[&
EEE EH BA 47/ 41| 88/ 19.5 68.5/&
6L LU REE 35/ 41 76 7.3 68.7&
M X EE 36| 39 75 6.1 68.9/&
541 F:_ E— 42| 43 85 15.8 69.2/&
6 == B 45/ 347 79| 9.7/ 69.3/E
i Bk IERR 45/ 45] 90| 20.7] 69.3/E
84 KEE Z 38 40/ 78] 8.5/ 69.5/E
oL [k MBI 41 42] 83]13.4] 69.6/ B
106 g FEX 39| 38 77 1.3/ 69.78
1ML R FRE 36 35| 71| 1.2] 69.8[BG
1261 B & 36/ 40/ 76| 6.1] 69.9
13 [ & 38 38 76/ 6.1] 69.9
1461 %58 — Rk 50/ 46] 96| 25.6| 70.4
1561 | K& XBy 47/ 43 90/ 19.5/ 70.5/&
166 | &H B 41 43 84| 13.4] 70.6
1760 | F5F #%53 41 36/ 77] 6.1] 70.9
1861 BAX EF 40/ 370 77] 6.1] 70.9
1961 [#8 JH%E 55 50/ 105| 34.1] 70.9
202 [ HE 7F 57/ 46/ 103 31.7| 71.3/&
2167 [#E@A FR 45/ 41] 86| 14.6| 71.4
22010 ;A HE 43| 43] 86| 14.6| 71.4
W6 Bl EF 44 42) 86| 14.6| 71.4
2441 |FRE ALRE 48 49] 97 25.6| 71.4
254 [RIR HEKF 38| 42/ 80 8.5 71.5/E
2661 (A BZ 43 41 84 12.2] 71.8
211 By ¥— 47/ 48] 95 23.1] 71.9
2860 AR E 37| 46/ 83| 11.0] 72.0
297 HKE = 43| 45/ 88| 15.8| 72.2
0 EE F ] 41 82 9.7 72.3/E
1L [EK BEF 48] 45 93] 20.7| 72.3
201 WX BT 45/ 42) 87 14.6| 72.4
B | KA BAE 45/ 42) 87 14.6| 72.4
M [ILX BIA 45/ 42) 87 14.6| 72.4
I R ME 41 40/ 81 8.5 72.5/8
6L fERKR E— 47/ 45 92| 19.5] 72.5
3L | KB BRI 43 43 86| 13.4] 72.6
8 |HF EfT 45/ 46 91| 18.3] 72.7
I | KEE EXF 42| 43] 85| 12.2] 72.8
4061 JRF IESR 38 47| 85 12.2| 72.8/&
M6 luh ER 38 41 79| 6.1 72.9
261 | HFE & 49 41 90| 17.0] 73.0
A [H B 40/ 43] 83| 9.7| 73.3
I R 47) 470 94) 20.7| 73.3
4561 % & 46| 48] 94/ 20.7| 73.3/E
46461 Ll IR 47/ 470 94) 20.7| 73.3
4760 [ WFE & 45 43] 88| 14.6| 73.4
4861 |5 BIF 38| 44, 82| 8.5 73.5
49K Al EX 47/ 46/ 93] 19.5| 73.5
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JE 15z B E4 Bl OUT | IN |GROSS| HDCP | NET
50 %@ =iE 51 42] 93] 19.5 73.5|&
51 |28 1&sh 47 46] 93] 19.5] 73.5
521 | K MZE 46] 46] 92| 18.3] 73.7
31 | ElE FEFE 48] 50| 98] 24.3] 73.7
54 [EIR fEE 46] 40/ 86| 12.2] 73.8
55 |[AR1T AKRK 48/ 49 97 23.1] 73.9/&
564 [l H 45/ 40/ 85| 11.0] 74.0
57 2@ %2 40/ 45/ 85| 11.0] 74.0
58 | KB FEF 46] 45] 91| 17.0] 74.0
50 [FFK #EE 41 38 79| 4.9] 74.1
604 [[GF9 FF 50/ 46/ 96 21.9 74.1/&
614 [/Mz  1E5h 48] 48] 96| 21.9] 74.1
6241 AT Ei 47 47] 94] 19.5] 74.5
63 [IRIE &% 48] 46] 94| 19.5] 74.5
6AGL |1 BB 41 47) 88| 13.4] 74.6
6561 BAE Hil# 43| 45| 88/ 13.4] 74.6/ B
661 B —X 46] 42 88| 13.4] 74.6
672 [FAEA XE 53] 52| 105| 30.4| 74.6
681 |EifZx H= 50 43| 93] 18.3] 74.7
696G |/ME =M 44 42 86| 11.0] 75.0
10 &R 4L&x 48/ 38| 86 11.0/ 75.0/&
M 5% EBR 49 48] 97 21.9] 75.1
206 [ HE B 45/ 40/ 85| 9.7| 75.3
136 [#ME 41 44] 85 9.7 75.3
JAGL (i E 43| 53] 96| 20.7| 75.3
7561 [dr)I FR—ER 45/ 45| 90| 14.6| 75.4|8
1661 [EE HF 48 47/ 95 19.5] 75.5
776 [&#A A 45 44 89| 13.4] 75.6
186 = & 48] 46/ 94| 18.3] 75.7
196 | EE FER 43| 45/ 88| 12.2| 75.8
80 |[AAX #F 46/ 53] 99/ 23.1] 75.9/&
81 BB E% 47/ 52] 99| 23.1] 75.9
820sf |[AA & 47/ 46/ 93]/ 17.0] 76.0
83 K =E 47/ 51 98| 21.9] 76.1
8441 /A ?é% 50/ 48] 98| 21.9] 76.1
85 |HhFt IEE 52| 51| 103] 26.8| 76.2|&
861 |AIR FE—ER 44 42 86 9.7| 76.3
871 IR 1817 51| 46/ 97| 20.7| 76.3
881 [#EM 1EA 46| 51/ 97/ 20.7| 76.3
89 =& 48] 43] 91| 14.6| 76.4
90z /MR EFE 49| 53| 102] 25.6| 76.4|&
9z |F #17 47/ 49 96| 19.5| 76.5
21 KR =2 50/ 46/ 96| 19.5| 76.5
QB BB EA 45/ 39/ 84| 7.3/ 76.7
041 B %k 50/ 62| 112] 35.3] 76.7
% WME = 50/ 49| 99/ 21.9/ 77.1/&
06f |fAIE JILE% 52| 47/ 99| 21.9] 77.1
971 & R 55/ 55| 110| 32.9] 77.1
98I |AI HEF 46| 52/ 98| 20.7| 77.3
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99 WA fEF 43 49 92| 14.6| 11.4
1004 HFT #d 52 44 96| 18.3| 71. 1/ &
1014 |[AK EE 47 43 90| 12.2| 71.8
10241 B0 B 53 48| 101 23.1, 717.9
10342 A B 52 49| 101} 23.1, 717.9
10441 B KE 48 46 94| 15.8| 78.2
1054 |#K  BH 45 43 88/ 9.7| 718.3|&
10642 | fK —2 55 55| 110] 31.7, 78.3
10742 &% & 50 48 98| 19.5| 78.5
10842 | HE #BE 54 49| 103| 24.3| 78.17
1096 | FR EX 49 46 95| 15.8| 79.2
11062 |[ARAK Bh 51 44 05/ 15.8] 719.2| &
114z E*‘JFI E3p 48 41 89 9.7/ 79.3
1126 | &8 B=x 47 63| 110] 30.4| 79.6
11362 |2 755h 52 51 103] 23.1| 79.9
11461 WX EF 51 51 102| 21.9 80.1
11542 1A & 52 55/ 107| 26.8| 80.2\=
11661 | AT E # 54 45 99| 18.3| 80.7
1174 H 8= 51 58| 115] 32.9 82.1
118461 | & R— 58 48| 106| 23.1| 82.9
11941 |585= #2R 59 50| 109| 25.6| 83.4
12062 /DR [BR& 51 66/ 123 36.0| 87.0/BB
12141 | AieF 60 66/ 126/ 36.0| 90.0
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